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In Pascal’s triangle each
number is the sum of the
numbers immediately above it
to the left and the right. It
starts with 1 and all the
numbers on the edges are 1.
It creates a very interesting
pattern in which many other
mathematical relationships
are found.
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Adding the numbers

The numbers on

il gi Along each edge Next you will ind MNext there are the
el are 15 but next to triangular tetrahedral
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T sl the natural 1,3,6.10.15.... 1,4,10,20,...

numbers: 1,2,3,4,...

i' Ireland

9 Maths Week | 14-22 October 2023

Register now on

- mathsweek.ie

f #IUseMaths
#MathsWeek2023

@ & & & & 4 & & &

Binomical Theorem

A binomial is an expression with two terms such as x + y.
Raising such an equation to the power of 2 i.e.:

(x + y)* = (x + y)(x + y) which works out as 1x* + 2xy + 1y°.
As we increase the power, it quickly gets more difficult and
the binomial theorem helps us to simplify the equations
efficiently, i.e.: simplifying (x + y)'°. Pascal's Triangle

gives us these binomial coefficients in each row.
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at the age of 19 he constructed the

WORLD'S FIRST MECHANICAL
CALCULATOR.

Pascal was born in Clermont Ferrand,
a city in central France overlooked
by an extinct volcano, Puy de Déme.
In 1848 as Pascal was in poor health, he
asked his brother-in-law Florin Périer to carry
a mercury barometer to the top of Puy de Déme
and measure the air pressure. This experiment
provided convincing evidence that changes
in @ barometer reading were caused by
the weight of the air.

The standard
international
unit of pressure
the pascal (Pa)
is named in his
honour.
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